el T T! Chaye / Paper / Subject Code: 42651 / Enterprise Network Design } NV 2018 .+

(3 Hours) ok ,[’I:ot.s'l] Marks: 80]

N.B.: (1) Question No.1 is compulsory.
(2) Attempt any three questions from the remaining five que'stiéns‘ ‘
(3) Make suitable assumptions wherever necessary but justify yom'a'ssu'mptijonst

1. a) Explain SONA framework for flexible netwerk desxgn S} 10

b) Compare the Top-Down vs Bottorn—Up Network Destgn Approach ‘_ TTapd

2. a) State and Explain in brief dlfferent external threats hampenng the lntegnty of the

enterprise network. : 10

b) Explain different phases in PPDIOO Network Llfecycle 10

3. a) Explain the role SNMP 111 network managcmcnt 10
b) Explain the hlerarchwal network model of network demgn 10

4. a) Explain VPN and its--imple'mentatioﬁ‘t'échn'i‘ques- | 10

b) Explam EIGRP 1n detall and hlghhght 1ts charactenstlcs which make it

suxtable for Enterpnse Networks : 10
S, a) State and Expiam IPv4 to IPv6 Transmon strategies. 10
b) State and cxplaln suitable routmg protocols for Enterprise architecture. 10
20

6. Wnte a note on (any two)
A5 SDN Archttecture e

b. MPLS g
c: Enterpnse WAN archltecture technologies

ok ok skokkok sk kokkok ok
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BN VT } TNFT / Paper / Subject Code: 42652 / Infrastructure Security [Nov 2019
Chovce

(3 Hours) [Total Marks: 80]

N.B.: 1) Question number 1 is compulsory.
2)  Attempt any three questions form remaining questions.
3)  Figures to the right indicate full marks.

1.Answer any four
a) Write short notes on Access Control Policies
b) Write short notes on Buffer overflow
c¢) Explain WLAN Security attacks
d) Write Cross Site Request Forgery with example
e) Explain Business Continuity Plan

2. a) Explain the different types of Malware in Software Security
b) Explain the different types of authentication methods

3. a) Explain UTMS Security with neat diagram
b) Explain OAuth 2.0 architecture and its grant type with neat diagram

4. a) Explain the different types WLAN Security attacks
b) Explain OWASP and its ten vulnerabilities

5. a) Explain different types of Email Attacks
b) Explain File protection System in software security

6. Write short notes on (Any four)
a) Explain the incidental management
b) Secure Socket Layer
c) Multilevel Database Security
d) Data protection in cloud
e) Cloud Identity and Access Management
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FT } SEM VI / Paper / Subject Code: 42653 / Artificial Intelligence ( NO V 2 D 19 :

Chotcel

Note;

Q.1

Q2

Q3

1. Question number 1 is compulsory. Al A
2. Solve any three questions out of the remaining five questlons

3. Assume suitable data if necessary g ¥ ot
4. Flgure to right indicate full marks

(a)
(b)

(©

Y 5 s the next move

76150

[Time: 03 Hours] Pk, ,[Maiékg;:gpj SIS

N.

Explain different definitions of artificial mtelhgenc :
categories. 2
Solve the given problem using Crypt Arithmétw method
S E N ZD S
+ M O JROEE ST

Solve any Four of the following. 3 o
ordmg 0. dnff‘erent

MO N B Ry el

Represent each of the foliowmg rﬁences m ﬁrst-urder Ioglc L
i) A whale is a mammal. ‘ D R A
i) Jane likes John. 2 S :
i) If it’s raming, then-the gmund is. wet " ;
iv) If the switch is on and the li ght 1S off then !;he hght—bulb 18 broken
v) All computers have a- processor.. o
Differentiate between STRIPS: Tang;iage and ADL. .
Explain main eomp' 'nents“‘ '£a Cogmh\?e Computmg system

Explain Model based Reﬂex gent and.Utll!fy baSGd agent with block
diagram.
Explam dlfferent knowledge re;meSentatmn methods w1th example.

Dlﬁ'erentlate between Informed and Llnmforr_ned search techniques. Also

- explain A"‘algornthm with shitableexample
- Explain Plannmg in Al Compare Paruai Order Planning with Conditional

3 ‘Pla.nmng, Also,

explam the real time apphcanon of hierarchical planning.

_max a d Alph Beta Pm ing on given game tree and find which

W [A: -max‘nodej
Ak .-mmnode
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Paper / Subject Code: 42653 / Artificial Intelligence

Q.4 (b) Consider two medical tests, A and B, for a virus. Test A is 95% effectwe at 10 ey
recognizing the virus when it is present, but has a- 10%: false positive rate .~~~
(indicating that the virus is present, when it is not). Test Bi is 90% eﬁ"ectwe '
at recognizing the virus, but has a 5% false posmve r‘ate The two tests use. - -
independent methods of Identlfymg the virus: The- v1rus is camed by 1% of
all people. Say that a person is tested for the Virus usmg enly one of the tests s
and that test comes back positive for carrying the VIFUsS. Which test retummg_ e
positive is more indicative of someone reaily carrymg the virus? Just:fy your
answer mathematically. WA :

Q.5 (a) ExplainF orward-chammg and Backward Chammg a}gonthm w1th the help :
of example.
(b) Explain different components of Natu_ral Language preceSSmg‘? Also
explain different levels of knowledge used mn language understandmg'? '

Q.6 Write a short note on: auy Four S

. A P 4 o -

(a) Bayesian Network Wlth examp[e

(b) Supervised and’ Unsuper‘flsed leammg_‘ '::,

(¢) Roleof NLP in Cogmtlve Systern el
(d) Conditional Probablllty and Its role in AI e
(e) Knowledge baeed agent : Pt

S RO
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F T' SENVIL ’ Paper / Subject Code: 42654 / Storage Area Networks (DLOC - I1I) , Nev: 209
Cho tee f : ‘ :

[Time: 3 Hours] i:  [Marks:80]

Please check whether you have got the right questlon paper R P o A
N.B: 1. Question no. 1 is compulsory. ) SR B
2. Solve any three out of remaining. - .
- 3. Draw figure wherever necessary. :
4. Assume suitable data wherever roqulred

second. The disk service time is Rs. = 8ms Calculate the measure of dlsk
performance. : - :

i) Utilization of I/O controiler (U)

i)  Total Response Time" (R) '

i)  Average Queue Size :

iv)  Total time spent by a request in the Queue :
Consider the same disk I/O system and calculate the above measure of dlSk
performance if the disk semce  time i halved I e Rs “4ms.
Show comparison Of dlfferent RAID levels et T O

Explain components of Intelhgence Storaga System (ISS) in detall
Draw and explain BC planmng lee cycle in detaﬂ w1th example define RTO
and RPO S A e RO O S e

Explain storage secunty domam and 1ts 1mplementatlon 1n storage technology.

Explam NAS workload and mentxon charactenstlos of NAS.

Explam avaxiablhty plan and serv;ces m stqragc network.
Explam ILC for any apphcatmns of your choice.

_ Exp’loin,SAN oon-ﬁgu,ratiorl in‘@e'tail.-"'

Explain Data Centro’lpffa’struoﬁlre in detail with elements and functionality.

Explain NAS"oompoﬁéﬁts and protocol in detail.

- Explain SAN Host Bus Adapter.

3 ofe o ok e ok 2k ok ok ok ok ok ok
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Q.1 a) Consider disk 1/0 system in which an 1/0 request arrives. at a rate of 100 /O per (10)
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Paper / Subject Code: 42657 / Software Testing and Quality Assurance (DLOC— III) ( y rd Qv 2019

{3 Honrs) ITQtal.:\ﬁa’rksf:iSﬁ‘]

Note : Question No. 1 is compulsory.
Attempt Any Three from remaining questions.
Assume suitable data if required.

Ql Ealltier
A. Explain the need of automation in testing ? leferentiaxe et\:Veen m "“ual Testmg ani
Automated Testing i : S St :
R ::‘”‘: £ S < ‘_10(7;‘1:‘_" SR
B. What are Key elements of Test Managemen‘tif-?;Explain thé_,‘stmcm‘_tefq‘af testing group.~ .~
Q2 A. Classify different types of bugs based, on: ﬁware development llfecycle s 10 v

B. A program reads three numbers, 4, B, and-( Wlth a range'[1, 50] and prints the largest
number. Design test cases for this \progra, using eqmvalenCe clasNeshng techmque

: = 10

Q3 A. Discuss verification and vahdatlon ‘actwmes S B _ 10
B. What is Mutation Testmg 2 Explam Mutahon Testm Pl;ecess e 10

Q4 A . Consider the program: for calculatmg the facto '1' 1 af a number kol 10

(a) Draw the DD graph for the program\;; e -
(b) Calculate the md1v1dual cyclomat;h omple,’_ ty number for mam() and fact() and

then, ; T
the cyclomatlc,.cbmpfexny for Ihcz whole pr
maln() LSk ;
Rl
int number
mt fact()

o L-"Clrscr() '
3 pnntf(“Enter the numberwh s¢ factonal is to be found out”);
g scanf(*%d”, &number)
- " 4. if(number <0)
K o pnntf(“Facor:al cannot be dqf: ned for this number);
- L 6pelse”
3 7 pnntf(“Factonal 1s %d” fact(number))

BT 1nt f)roduct -1,
0 fOI(lIldGXﬁlf: mdex<-number index++)
© o 3. product= product * index;
e retum(product)
= 53 SRy
B What 1s Test Plan ? Explain Different components of Test plan document. 10
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Paper / Subject Code: 42657 / Software Testing and Quality Assurance (DLOC - I1I)

Q5 A. Explain challenges in Agile Testing 10

B. Comment on regression testing process. ~ 10
Q6. el et
Write Short Note on following 3 i T Y 20

A. Test point analysis S
B. Unit testing and Integration testing '
C. Bug Lifecycle

D. McCall’s Quality Factors and Criteria
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INE=T / SEMT / Paper / Subject Code: 42663 / Operations Research | N.® V .. 20' q
Choice [ Lt ST

3 Hours

N.B:

Q.1

Q.2

3 a} Solve the\wfollcwmg by Vogel’s Approximation Method (VAM) and find optimal

 Total: 80 marks

(1) Question no 1 is compulsory
(2) Attempt any three out of remaining five questions
(3) Figures to the right indicate full marks
(4) Assume Suitable data if necessary

(5) Notations carry usual meaning

Answer any four of the following questions: -

a)Write the dual of the following LPP
Maximise Z= 4x; + 2x;

Subject to, .
Xy — 2% 22

X +2x, =8

X — %2 <10

Wherex;, = 0,x; is unrestrlcted',x'" SIH s Sl (05)

b)What are assumptions made it game theory - Sl SAE (05)

¢) Write short note on speclal cases in Linear: Prﬁgrammmgl’roble_ o = (05)

d) Enlist assumptions in sequencing prablem WS e 05)

¢) Briefly explain Monte Carlo s;xmulancﬁ wlth smtable example S (05)
a) Solve by Simplex Meth d:

Maximize Z=3x; + 2x 5

Subject to X

X1t x; < 4'

X1 — X2 S 'ZK : T

Where x4, X; (10)

b) Workers come'to taol store ‘Toom 10> rccewe spemal tools (required by them) for
aocomphshmg a: pamcuiar project ass;gned* to them. The average time between two

_,amvals is 60- seconds and the arrivals.are assumed to be in Poisson distribution. The
: avcragg service time (of t taoL roon’f attend )j is 40 seconds. Determine

REY Average queue Tengthy™ " oS ey
~ 2) Average length of non\éml\aty quéue
3) Average nuqnber of workers in system

Sy ‘Mean waiting time. of an arrival

iting time of an_ arrival (worker) who waits. (10)

DIF9F7C36E6E62DC420FF76DB758BC8A

transpartatlomp}an (10)
g ' e D: D3 D4 Supply
30 50 10 7
30 40 60 9
8 70 20 18
8 7 14
Page1lof3
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Paper / Subject Code: 42663 / Operations Research

b) lyengar Bakery keeps stock of a popular brand of cake. Prewous Experlence mdlcates

the daily demand as given here: A ST (]0)
Daily 0 10 20 30 -2 AT S 30T
Demand Pkt

Probability | 0.01 0.20 0.15 0.50

Consider the following sequence of random numbers
48,78,19,51,56,77,15,14,68,09 -

Using this sequence simulate the demand for the next 10 days Emd' out: the swck sxtuation
if the owner of the bakery decided to makp 30 cakes: every day AJso estlmate the dzuly_
average demand for this cake on the st1$ ofsgmulated data

a) Solve the following Ass1gnment Prob!e o "flﬂ)

'\,

Contractors Rm c.??t ?Y,R%:flrs (Rs.-‘m Lak;? ofRoaﬂ!f - Ry

o &_,20‘, oA 19

Gy e e 18

Ca e« RO NN 19

Cs S e 5% ”7*’21f94' 16
Rs.50 Lakhs is total cost of repalr-f- i o

1) Find the best way ¢ of assigning the repair work t@ the contractors and cost.
2) Ifit 15 ne_qes_sagy to seek supplementary grants t.hen what should be the amount?

(10)

Arc Distance
5-8 12
5-9 7
6-9 9
7-9 6
7-10 13
8-11 4
9-11 2
10-11 15
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Q.5

Q.6

Paper / Subject Code: 42663 / Operations Research

a) A and B play a game in which each has three coins a Sp a IOp an ‘20p Each player

selects a coin without the knowledge of the others choice. If the sum of the coin is anodd =
amount, A wins B’s coin; if the sum is even, B wins A’s coin. Fmd the best strategy For' T4 ¥

ay

each player and the value of the game.

PR

b)Solve by Big-M or Charne’s Penalty Metjnod S ' 7 o (10)

Maximize Z=4x;+ x;
Subjectto 3x; +x;, =3 .
4;!:1 + 3x2 =6
X1 + sz <4
Where x;,x; = 0

a) A book binder has one prmtrng press One bmdmg machme and th‘ :manuscrlpt of
number of different books. The time requrred to perform the | printing and binding operation
for each book are given below. Determine the order in which book- should be processed,
in order to minimise the total tlme requ:red to tu:n out ail the books Also find the idle time

of binding machine.. .~ .~ i N R R W R - (10)
Books f'li‘" o Bl et e F OIS 5 6
Printing | % e San 0 eh | e
time (hr) 30 B N G 7 o
Bmdmg R P MNP LRI

b) Mini Computer Company purchases a oomponent of whlch it has a steady usage of 1000
umts per year The ordermg eost is R&SO per order The estimated cost of money invested

.....

pohcy and total cost of‘mVentory systern mcIudmg purchase cost of the components. If

- ‘the’ component supplier agfees to offer price discounts of minimum lot supplies as per

i schedule given below, reassess the decrsnon on optimal ordering policy and total cost.

(10)
Lot s;ze T Price
;‘;U'ptg 1 49 . Rs.40
S S TB0A499 0 Rs.39
FRE SOOOpMmc Rs.38
The End
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